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Xi s’
S, U 5, 5 5 0
S, Y 5,1 3 4
S, N 5, 15 10 25
S, H 5, 10 75 6.25
S, | 5, 3 4 1
u, Y 5,1 3 4
U, N 5, 15 10 25
U, H 5, 10 75 6.25
u, | 5, 3 4 1
Y, N 1, 15 8 49
Y, H 1, 10 55 20.25
Y, | 1, 3 2 1
N, H|]15, 10 125 6.25
N, | 15, 3 9 36
H, | 10, 3 6.5 12.25

=21.9167---=21.92
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Xi 1:i Xi
2 1 4
3 2 18
4 2 32
5 1 25
55 1 30.25
6.5 1 42.25
75 2 1125
8 1 64
9 1 81
10 2 200
12.5 1 156.25
15 765.25

E(X) = 97.5 = 15 = 6.5

V(X) =
E(X) = m
V(X) # 0?2
V(X) =

765.25 +

N-no? 6-22192 87.68

15 — (6.5)? = 8.766...=8.77

N-1n 6-1 2

10

=8.768---=8.77






